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Part I / WAT I

Mathemat

If fis a function of real variable x satisfying

f(x+4)—f(x+2)+f(x)=0, then fis a fix+4)—f(x+2)+f(x)= oaﬁrﬂg&rm%
periodic function with period : y )w ?ﬁf Teh ST o © FEeh STEd-a1d © \
WA - @ O A f W
7 (\J\KQ \ /S(\ L‘-’) n l)/ I& )
1 6 x@g\ ) /5\:"}\_(’“\,\,0 g AN I }( V‘ w\
l(“\W\? /_,. g @ X g ‘\,“\"\) 0;\ O\ )
2) 8 _/\( X @ 8 S k .,\
(\?\x W & { E“ “
r‘/) * CQ )‘\ X xb X
@ 10 \\&XLMQ) Ve 10
7‘)\@ 2
h% x\® -
@) 12 i % @) 12
s
% 0

If the function f: [1, o [> [1, » [is

ics / TifuTa
1. 3 fU& ardfas = x F o © S fF

2. G WA f:[1, » [ [1, » [ TH IFKR

defined by f(x) = 3" *=1); then f~1(x) is : R %ﬁﬁf(x) =3*x-1) §; @ (x) g:
o
x(x— 71 /j [ O = x(x
o (2 &7 QY @ (7
S VAR X W
. P @3 };
A * / {» \ ) '/3//
e 1(1-—,/1+4log3x) \y}/@) %(1—,/1+4log3x)
'T\ 7" // \\ .
1 A 1
@) S(1+ T +4logsx) x, @) {1+ 1+4logsx)
Q @
(4) not defined (4) ORfva 76 €
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3. The number of integral values of m for | 3.
which the equation, . f?ﬂ'{ T
(1+m?) x2—2(1+3m)x+ (1+8m)=0, has &)5 (1 +m2) x2—2(1+3m)x+(1+8m)=0 I
no real root, is : k% ﬁﬁmﬁﬁqﬁ% T
\J‘K{) L 1?\% | {\’x X h
1 1 2o A RO . <4/ %Y
v Y, o R
@ 2 V0 T @ 2 Tw
SO I
3) 3 va® “@) 3 . <
y {\C.\{J\ 4 ‘/ \\CL‘)@ ) \ é\ v, / rﬁ:\(‘, Q
7 infini v |/ ; a W9
4 infinitely many \f S & (41 PR @4“ &
e g \k/(ﬁ‘ O
P <
4. Let S={zeC:z(izy —1) =21 +1,|5<1}. | 4 T S={zeC:z(izy —1) = z; +1, |z <1}
Then, for all z € S, which one of the %, WEG ze S %ﬁ‘ﬂlﬁ'ﬂﬁﬁﬂﬁ?@@
following is always true ? THIN TA T 7
\ x*
\Mez—lmz<0 I N . (1) Rez—-Imz<0 N .
p \‘,{&\( <Y ° pe X E
(2) Rez+Imz<0 Vv N ';\Eb (2) Rez+Imz<0 e’ ‘?iiu
/}j\" ' ) r" 3 \‘b
(3) Rez<0 3) Rez<0 _®Y
\> \\)
4) Rez-Imz>-1 . 4) Rez-Imz>-— 1 t OO0
@) gy @ AT WO
7,50 X ‘ \3}#’ 9 AN
9 - ';\ -\ {'1)(\> vy YW o \A‘&
A A RIS S
5. If for a matrix A, |A|=6 and|5. 3fs &rsgs A & fay |A|=6 q9I Qh: 2
1 -2 4 1 -2 4 170
adjA={4 1 1|,thenkisequalto: vadjA=|4 1 1 %,'cﬁkW%’:
-1 k 0 o 1]\ AY -1 k 0
yyn o P Lo Y
1 -1 NG WO 1) -1 @ N
\ 4 (1 \"\\L / \& \\ \‘k
2 0 yox AT @ 0 . p N
' X\b\k r\);) i ¥ \
3 1 - \g # 3 X 3
© LI, MRS I Y
2 ¥ 4 2
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6. For all values of 4 € [0, %), N
the determinant of the matrix N o
-2 tan0+sec20 3
—siné cosl siné
-3 —4 3
always lies in the interval :
-—/’\ .
>
7 21 \
1) [2, 1 } \l{ ’\
L
8]
(2) [3/ 5] \ 3 D
N . i
Q
3) 4 6) \ YO

GEYR

7. A code word of length 4 consists of two
distinct consonants in the English alphabet
followed by two digits from 1 to 9, with
repetition allowed in digits. If the number
of code words so formed ending with an

even digit is 432 k, then k is equal to :

l's. ae[o, g)msﬂma‘fasmmg

) ol
-2  tanf+sec“d 3
—sind cosé sind
-3 —4 3

T HRIUTeR THen 5 S{aue § feoa &, 98 ®

& ¢
V@ B b A
9 7N
() @6 Y b
2 \
v el
(5 19 .
— — 7
(4) L d 4)

7. TR 4 910 Tk s B SIS YTy o &

R A AR IR 1A THH A
s ¢ T8 gAugfa &1 9kt 1 9 39 TR
T Hevie T Sifam ofw @w €, = gen
432k T, Wk TR T

2N ‘
@ 7 . 1y 7
\
@ s L | BENCRE y
(3) 49 Y4 (3) 49 ’1/5
A3 %l
35 j 35

4) o qcx"
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The sum of the series

)

19! 3117t  5!15!
1 1
- 191 + 3171 —5,15‘ +..... to 10 terms is T AT S, TR 2
equal to : s D
V.
YV \%A
19 é .s{'\f \ :\” : 19
gy = 5 - ¥/ S @) 27
20! VA i
N', ’ Ql
LJI»' g
220 20
2 - 5 25
@ 20! (2) o0
510 10
3 —_— 3 2"
©) 20! 3) 57
719 19
g S o 2
) 19! (4) T

Let a, b, ¢, d and e be distinct positive
111

5
. AMs=L4 1 4 1 4

9. THia b, c ddde = o7 geaW €1 3fe

numbers. If a, b, c and =, =0 both are a, b, caA 1, %, £ A iR S § € qen
c e c e
in A.P. and b, ¢, d are in G.P. then : b,cd !!Uilﬂ( ’ﬁ%?fﬁ'%, qar:
»©
(‘9 o LY
(1) a,c earein G.P. 0 N\ X Y (1) a,c e O & &
L s
VAT N0
¥ N\ .
(2) a,b,earein G.P. L”‘“”’ \0\/(2) a,b, e OTR 58 H T
J v ” d"’\é’
\ f“\\\’)
(3) a4, b, earein AP. 1\"\0 (3) a,b,eTHITR G H T |
(4) a,c earein AP. (4) a,c, e T H® I H B
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10. If Z—’*— =, then n is
"C; +"C; 1
equal to:
1) 10
@) 11
(3) 12
4) 13
11.  lim ((l— x)+[x -—1]+|1—' x[), where | 11. hm ((1— x)+[x —1]+l1— x[) x]
x—>
[x] denotes the greatest integer less than x %W 1 IGH FHY HewH Yol i s
3,
or equal to x : \Q)’ ERGI
(1) isequalto —1 \/l‘v Iy N 1) —1 % TR T
[ o N
(2) isequal to0 b\r‘}{) /\:’( (2) 0% SR T
- A
(38) isequaltol v (3) 1% SR R
0D
}A/ does not exist \:{N - ' (4) = i T )
Isinx cosx sinx+cosx +1 sinx cosx sinx +cosx +1
12. If y(x)={23 17 13 , 112, afe y(x)=| 23 17 13 ]
1 1 1 1 1 3
d? i’
xeR,then—z-kyisequalto: xeR%,T‘h_y-}-yW%
dx? - X dx?
LW
}/ 6 o b\ @ e
‘ R \
2) 4 0@3) v \n7J \ ’ Q) 4
@) -10 \ @) -10
4 0 (4) 0
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where C is a constant of integration, then

f(x) is equal to :

1 W;éﬁw“"’ 7
® -3 IO
-1

6 & 4"“ ’
® -3 6 Vs

N \A

=
— =
o e X OF 1 0710
g(}‘i\ .»
J \ ¥ C)):‘“AME’“

13. )]‘i,et p(x) be a real polynomial of degree 4 | 13. HI p(x), ®d 4%@3@%3@%%%’8&5
'fy\‘ having extreme values at x=1 and x=2. TH U x=1dq9T x=2 W ¥ Afg
5 A If lim EL;C—) =1, then p(4) is equal to : lim p—(? =1%d p(4) ST g M

: q) 344 x50 x -0 x \:)U'
C DY) o/
X s M 8 OV
§ ; Lﬂ'ﬁ N ;fﬁ
e (2) 16 P 2) 16 BT VAR
A - \i(“/; A ? Rt
e @) 32 VAR 3) 32
/'~
\/\D 4) 64 \)f"’ 4) 64
14. The abscissa of a point, tangent at which | 14. 3§ fag @1 4=, {58 T % y=e? sinx,
to the curve y=e* sinx, xe[0, 7], has xel0, 7] w1 el War # Bl Sifererad %\, g
maximum slope, is : "“ > ~ 2
W & y
(1 o ) ©o b Y
T AU /‘“ b, Q
@ 7 o (2 v
T
/f{) 2 (3
4 = 4)
15. If J——di—z—=f(x) 1+x8s+c, | 15. afg J—dx—2=f(x) 1+ x5 +C
23 (14 x° )A x (1+x° )/5

&, WET C ke 3TeR €, I f(x) SR ¥ :

D -3 "
1
@ ~3
6
G -3
X
@ -5

SPACE FOR ROUGH WORK / T% &Td & g srg




W A o \
L N \\\6 LR0T  M\LO LB
N X & X 2 o’ W’
P > IR R A
2 3 4 X
16. The integral j [xz]dx ([t] denotes the | 16. HHIHA I [xz]dx/ (SRT[f], tAFAAL F
0 0
greatest integer less than or equal to f) is SR TETH qUlish 1 FAfds har §) e
equal to : ¥
1 3-2 1) 3-v2
2 5-243 2 5-243
B 5-V2-3 () 5-v2-43
@) 6-vI-3 @ 6-i-3
17. If the line x =4 bisects the area under the | 17. If¢ 3@l x=q, 9% y = iz,ls x<9 &F
x
curve y =—2,1Sx =9, then ‘a’ is equal = & WWWWW%, a e
X
to : : T T
(1) é “’\\.\‘_ S (1) é »
9 9 - O;\ o
9 : 9 a b \t\ N \
2 — — 2 A\ {
e (2) 5 ) D \\ Y ><\ ¢
3 2 N 3 2 | ‘ :
SO \ WO ( )/ 9 “{\“\
9 N 9 /K ’ / 9
@ 3 ‘WX @ 7 N N ;o ]
g X K ' V.
, 4 2 2y
18. The solution of the differential equation 18. \ STEHE THEH y‘jx 3 x;y =2 :
B
ydx + xdy _ x* ¢V : . / ¥
ydx —xdy 4t 1 (0) =1 I Y HTl G & ¢ :
satisfying y(0)=1, is :
(1) 3 =3y3(—1 + e”xy) 1) =3y3( -1+ ¢ )
@ 2 =3y*(1-¢) @) 3 =331 )
3 _ n..3 xy — 7.3 xy
(3) x° =3y (—1+e ) (3) —3y( Taie )
(4) 3 =3y3(1 - exy) (4) = 3y3(1 — @ )
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19. A line passing through the point P(1, 2)
meets the line x+y="7 at the distance of
3 units from P. Then the slope of this line
satisfies the equation :
]

N

(1) 8x2—9x+1=0

(2) 7x>—18x+7=0
(3) 16x2-39x+16=0
(4) 7x2-6x—7=0 W

20. Two vertices of a triangle are (3, —2) and
(=2, 3), and its orthocentre is (—6, 1).
Then the third vertex of this triangle can
NOT lie on the line : (}ﬁ)

1) 6x+y=0 5T\
(2) 4x+y=2
- Y
(B) S5x+y=2
: , /
») 4) 3x+y=3 ' /
DI @) 3ty QD'\QS / |3

21. Let PQ be a focal chord of the parabola
y?>=4x. If the centre of a circle having PQ

as its diameter lies on the line

J5y +4 =0, then the length of the chord

N \\,’ RS
19. T3 P(1,2) | St ST aredt W@, Wi x +y=7
I P Y3 ThE B g W edt 31 dswE |

(3) 16x2—39x+16=0
(4) 7x2—6x-7=0
N
20. Ifc @ fBys & < Wi (3, —2) 991 (-2, 3)

g a0 TTH Gehg (—6, 1) T, W YT F
ey o 5 W R e 98 @ 9ar 9%

\\,\ 3.

e 1) 6x+y=0

dx+y=2

3) Sx+y=2
3x+y=3

21. HFl PQ WEeH 2 =4x HI T AY e 2|
Ffe PQ =W A FA H hg @l
VBy +4 =0 Tferd e, T s PQ i e

PQis: N = #1 &5 \}’\) i . .
36 36 t
M = O 5
26 o 26
@ T @ 75
3615 365 v
® 5 ® =5 W
26+/5 L 26+/5 (2
@ 28 2 w 2° A
L 0 AV \t'
S/Page9 (4. VéP}Qﬁ FOR ROUGH WORK / T% &Td & fotg L B
Ke * Z,\L el \,W v
w7 e X
/k . ¢ ’\ '\\'} ’ /\)'\ AJ\
D) N / .An) \ \‘.\ 0N 9 N\

3 a -
! \'\L b\,. ) \V)
(1), 8x2-9x+1=0 \» RN
AR WV W
\{)(»z) 722 -18x+7=0 -\ oY
&

)



22. The foci of a hyperbola coincide with the | 22. T W H AET TS ?ﬁ‘éfﬁ[ﬁ
2 2 2
focioftheellipse;—s+%= . 1If the —g+?=1 I A & g 71 A
eccentricity of the hyperbola is 2, then the AfTEed 1 Iehadl 2 T, d 39 sAfawaed
equation of the tangent to this hyperbola i Toig (4, 6) | TSRA Ael Te) T o1 gHi
passing through the point (4, 6) is : /6} 7
—y—De ‘#.( D= Ny
) 2x-y—2=0 ) ..\\ aP (1) 2x-y—2=0 Q,-Q .
2) 3x—2y=0 LN, 2) 3x—2y=0 RO
/",l : i 3
A 2x-3y+10=0 '* @3) 2x-3y+10=0 e/
N o a
4) x-2y+8=0 o MY 4) x—2y+8=0 \ v 4
S o Y
1 & & e W
23. Foralld, 0<d<1, which one of théfbllowing 23. 94t d, 0<d<1 & fau, f & @ SR @ foig,
points is the reflection of the point feig (d, 24, 3d) =1 faigadi (1, 0, 0), (0, 1, 0)
(d, 2d, 3d) in the plane passing through 1 (0, 0,1) ¥ TR A ATl FHaa | Yfdfsa
the points (1, 0, 0), (0, 1, 0) and (0, 0, 1) ? ??
2 2 2 2 2 2
s =3l = = Qv e —=3d,=--2d, = —-d
(1) (3 3 3 (j (@) (3 3 3 J
(—1+3d 2d, - +d) (—1+3d 2, - +dj
@ (73 3 @ 73
(3) (3d, 24, d) (3) (3d, 2d, d)
1 2 1 1 2 1
~+d,=—-2d,— —+d —+d,=--2d,— - +d
(4) (3 3 3 j (4) (3 3 3 )
24. The plane through the intersection of the | 24. ¥HAW x+y+z=1 qA 2x+3y—z+4=0
planes x+y+z=1 and 2x+3y—z+4=0 % gfdesed 9 Bl S oel §9ad, S
and parallel to y-axis, also passes through y-3T& & @R %, ISE] fTslg g o TSI %, B
the point : £
M (=30 -1) | (M) (=3,0,-1)
@ 6oy |a® } /[ @ 601 WY
(3) (-3,0,1) e WP e (301 w2
v g R e q J\
@ G0 -1 G @ 6o -1y \
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oo\ x OO Iy
Vv \’3 i 3 Vg k \,': 'é‘:?‘ W7 h) s oY
2 NI SN 7 "V A
(\\V |
: 3 o A A A .
25. From a point A with position vector | 25 fig A forgen feufa wfew P(i +j + k) g,
A A A .= A A A
P(i + f k), AB and AC are drawn Y ABAMACHHI: [T » =k +Ali + 7
- A AOA - A A A) = . A a
perpendicular to the lines r =k+/\(i + j) aaq r =—k + ,u(i - ]) & deed Tl
=2 4 A 0 e A A "\
and r =—- k + ,u,(i = /]\), respectively. TR B pmwnﬁw%; L <20
A value of p is equal to :
1 -2 1 -2
@ =1 \ { @ -1
B 2 (.- @)
LV @ 2 y 4) 2
0 v o
\ ¥ % "

6. Fora positive integer n, if the mean of the | 26. T& ¥qUlish 1 & fag, fgu8 (@+h)2" 3 =
binomial coefficients in the expansion of YER H T[0Tk T AL 16 ©, T 1 TR Q
(2+b)?"~3 is 16, then n is equal to :

1) 4 « ¥ 1 4 :
2 5 SN N (2 5 i :
@ 7 s e 7 OV
@) 9 FOV T @ 9 )
Nl

27. A box contains 5 black and 4 white balls. | 27. TH IR H 5 SHicH YT 4 THE TS € 1 T 9
A ball is drawn at random and its colour qgo3AT Ueh e fHenrrelt T2 dor 39T T A
is noted. The ball is then put back in the fomem L 39 e ‘Sm“\l, =g fauda T1 6 2
box along with two additional balls of its sifafem Q0 % Wy s § aifuy e fem
opposite colour. If a ball is drawn again T 37d AfE s | 9 T g e T, @
from the box, then the probability that the IHh el U1 T B I JIIHd €
ball drawn now is black, is :

7 . VA v”\i 7
L 4] t
(1) 11 ’ > (1) 11
5 . 5
@ 4 \ 2 =
/" 53 é;, 4 53
A 59 B ¢ G) 5 b
& AR PR
4 il§ & " = j\4 ﬁ
( ) 99 4 [:, % \)} (}; ( ) 99
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= A ——
- - R e 2) 3
\ ey ‘ ’ n
\ ;l\\ ":j ' ‘ { ,\.. | \ ‘ -':w
28. If the system of linear equations : g:, Ifg Yas gt e 0 ‘
x+3y+7z=0 I x 43y +72=0
"}\"\‘5‘“
—x+4y+7z=0 —x+4y+7z=0 %
(sin3@)x + (cos28)y +2z=0 (sin38)x + (cos26)y +2z=0
has a non-trivial solution, then the number FT TH AT BA g, @ I [0, 7] § 9=
of values of @ lying in the interval [0, 7], I 6% HHI 6 G@A©
is
(I) one (1) T
(2) two 2) =
(3) three @) =
(4) more than three (4) W« ek
19 n 19 n i
29. The value of cot| Y cot™ |1+ Y 2p 29. cot| Y cot™t |1+ Y 2p FARE :
n=1 p=1 n=1 p=1 | \ ‘5/
is : _ A (S
O\ WY : \
1 }2 ( \ % \)f 1 _1.2 \ ; \.ﬁ\ % :
M 2 ' D 30 W\
2 = 2 = ACHE R 2
y L R NP e
3) 21 1o ¢ "\V_f// ©) 71 v /q( > 15 “
)//31_ . oK ,} R N x W o
J 19 A N ) 19 WA \
5_} % o.y \ A Ql b
NG o V
T : 9 .
30. The negation of A—(Av~B) is: \9\ 30. A—(Av~B) % fuy : \X !
(1) a fallacy j 1) T T e
\/Z{ a tautology (2) TH GTEE T p" X 1\ ’
. v -
(3) equivalent to (Av~B)—A (3) (Av~B)—A & HHJH B VAt
(4) equivalent to A—>(AA~B) (4) A—(AA~B) % THI g
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Pal‘t II / 9 11
Aptitude Test / 3IFusfar udteror

Directions : (For Q. 31 to 35). Which one of the answer figures shows the correct view of the 3-D

problem figure after the problem figure is opened up ?

A39r: (W31 @35 & @)1 3-D T¥7 37717 &1 Gicid W, ST F7a1 § G TeT G99 Fi T &7

Problem Figure / F¥7 371l Answer Figures | 3T ST

" (B

o B2

[T ]
[T ]
L

L] ]

= N n N
- N = = ]
1 )y 3 4
(1) @ ® @

[ 1]
[L11]

[ 1]

= = = y uR
:‘/ E ] : 1
A % o) @

e < < <
M 5/

L]
L
|

—~
W
~—"

4)
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Problem Figure / 397 3fIhld Answer Figures / 3% 377?77%277

1]
[ 111
111
[ 111

Lo U ol el ol

1111
[1111
[1 11

LTI

!
[

—~~

=

CHl
P

L2

P e

B

L
[ 1]
(111 ]
[

L
L
11
> [

™
N

m @ ) K

Directions : (For Q. 36 to 39).  Find the total number of surfaces of the object given below in the
problem figure.

fFEor: (W36 @39 & forw )1 397 37ishfa & fAeaifeha a&q 4 Tgl &1 T &l 71 Hiford |
Problem Figure /| 997 37Ishld ‘

7<%
l/ I?‘ %/ \\%
36.7 X2
1) 17 2) 19 3) 16 k‘,(4)"/’18
37.

2 19 3) 22 @ 2
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Problem Figure | 97 3T&hld Answer Figures / 3T SWW

[ 1]
[ [[]]

Lo P el

[1111
L1111
[T 1]

|
I

¢y @ )

[11]

LI

8 [[]]

3

~—"
—~

~—

Directions : (For Q. 36 to 39). Find the total number of surfaces of the object given below in the
problem figure.

FEor: (W36 @39 & fow )1 597 amrshfa & femiena ag ¥ 9agl #1 ol &I 71 Hiferd |
Problem Figure / 997 37Ishid '

2 19 3) 16 W 18

@) 19 @) 22 @ 2
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19 43{/ 16 4) 18

7 M 9 @) 11

Directions : (For Q. 40 to 42). One of the following answer figures is hidden in the problem figure

in the same size and direction. Select the correct one.

Feer: (W40 2 % forg)1 19 & 7o 3% amgfaal ' @ v sty Ay s fewr F wam = @

¥¥7 3Fld 4 g9 &1 7 & 76l 8 grw

Problem Figure / 97 3fIghfa ~ Answer Figures | I 3Hlaar

40. D Ve O Q
W @ ®) @

. 4 by 8 4
9l @ @ @

42. N Q @ %

M) @ ) @)
S/Page 15 SPACE FOR ROUGH WORK / % &1d & forw smrg



Directions : (For Q. 43 to 45). The problem figure shows the top view of objects. Looking in the
direction of the arrow, identify the correct elevation, from amongst
the answer figures.

FEor: (W43 @45 F @)1 97 37hla ¥ a&gail 1 9t g9 fa@rar 77 &1 ik #1 foon 9 @d

BT I STrFiaAl 7 & qel THE 99 IeHi4 |
Problem Figure / Answer Figures / 3t 3Ial
T ST
—

—

o) 1 PEPEH W W&
1) @
0 v

bcal N

i o
« 15 ik Aafh S Al
A 1) 3)

!]% H{ﬁ iﬂ Wﬁ Wltﬁ

1 1) (2) (3) (4)
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- Directions : (For Q. 46 to 49). The 3-D problem figure shows the view of an object. Identify the
correct top view from amongst the answer figures.

| FEor: (W46 @49 & f7w) 1 3-D 797 37gld & U 9% & U g9 H <@l T &1 F9H &
J ST §¥Y, IR Flad F G wEEnag |

Problem Figure | %7 31Ighld Answer Figures | 37 faar

46.

(1) ) @) @

<3 B 3 2 B
o | I i,
@ ) ) c8 @ |
48, ~| Xh LI
X [ 0 I i
M@_y, e (57( @)
— [_‘_ B
B @ - y

1[{ nj r ’
M) o (3) )
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Directions : (For Q. 50 to 56).  Which one of the answer figures is the correct mirror image of the
problem figure with respect to X-X ?

9 : (%50 @56 & fI@)1 SR smgfadl 4 @ ®19-41 st @ 74 997 SrFla # X-X @
T qel g ey & 2

Problem Figure | 97 3Tehld Answer Figures / 3t arptaar

& R2E2Y
B BEEE
A

X

5

=]

X M @ (3 4)
X
. A A & A
X ® @ (3) (4)
X
Pg <\\ N N
B N \\ N Y N N
53. < / 7 7
X M N [EN 3) W
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Problem Figure / F97 ST1hld Answer Figures / 3t SWW
X

54.

B BRBEBE

4] AA

* @ N

Directions : (For Q. 57 to 60).  Which one of the answer figure will complete the sequence of the
three problem figures ?

89T : (0. 57 @60 & @)1 I Flaal § G $i7-4i pld F1 a7 997 Fiaar 4 o7 @
37 (sequence) T & ST ?

Problem Figures /397 Answer Figures /| 3tX
8 8

%’)
Ayt ppp g,
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Problem Figures /337 37/'??’7%277' Answer Figures / 3t %ﬁﬂf

e @
- B3 EB &Y -

60. ?

1) ) @ @

) @ 0 @

Directions : (For Q. 61 to 63). The 3-D figure shows the view of an object. Identify the correct
front view from amongst the answer figures, in the direction of the
arrow.

&9 : (W61 @63 & fTT)1  3-D 597 3Fld 4 U o] & U 599 &1 [@ral T4 &1 % &1 fzn
T @ §U 3% GHgE VT FI IW FaFl § T GEETd |

Problem Figure / 97 371ld Answer Figures / 3tT 377?:'7?‘7277'

61-@ = = = =

® @ g @
62.
- ) e o @
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Problem Figure | ¥97 37&ld Answer Figures | 3T SHIaar

N I I

7 < Y
AD ) \l( ®) (4)

Directions : (For Q. 64 and 65). Identify the correct 3-D figure from amongst the answer figures,
which has the same elevation, as given in the problem figure on the
left, looking in the direction of the arrow.

39T : (.64 365 & @)1 3-D 3T 3 aal § @ 3T 37717 F1 Ge=+4 [orq F, ] #1 19 3,

@ G99 J¥7 Sl G [Herdr & |
Problem Figure / Answer Figures / 3t 377?7/%?#
97 3TFHd
%
_ay ) 3)

-

B ; ; -
> j/ — :

(1) A2 () )

S/Page 21 SPACE FOR ROUGH WORK / T% &9 & fau smg



66.

67.

68.

Which person is famous for the extensive

brickwork in Kerala ?
(1) Laurie Baker

(2) Hafeez Contractor
(3) Charles Correa

(4) Achyut Kanvinde

Aswan dam is situated on which river :
(I) Amazon River

(2) Nile River

(3) Rhine River

(4) Irrawaddy River

Interior of any room will appear larger

when painted with which colour ?
(1) Grey colour

(2) Blue colour

(3) Black colour

(4)  White colour

66.

67.

68.

w0 H 32w H fafgyar ¥ &M & el
HIF | Al gfHg & ?

(1) <R d
(2) BEIS Figa
(3) e I

(4) o= wHHfeR

e sy forg e W feem €2

(1) S TG
(2) e TS
(3) WA T

(4) TS TS

fordt & 1 37T G HF 91 T 4 9, 98
e fe@r <7 o B 2

(1) sum
(2) renm &
(3) ohTel T

(4) HHe

S/Page 22
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69. Howrah Bridge is :
(1) A steel structure
(2) Resting on concrete pillars
(3) Cable hung structure

(4) Resting on brick arches

70. Nalanda is :
(1) An ancient town in Sri Lanka
(2) A Temple
\/(,8’5 Ancient center of higher learning

(4) A Fort in Bihar

71. Which one of the following is a sound
reflecting material ?

(1) Woolen cloth
(2) Wood
 (3) Mirror

(4) Cotton Cloth

72. Buland Darwaza is located in :
; (Tf - Fatehpur Sikri
(2) Red Fort
(3) Agra Fort

(4) Golconda

69.

70.

71,

72,

HESEaR G

(1) T I H =g

(2) e & W W fem §
(3) TRl F = W T T T
(4) << I =l o fee g

TeieT T

(1) Sicisht & e IR ©

2) #fw®

(3) T S ST W R ¥
(4) foer ¥ feen ®

T 9 -1 waf aftafaa e 72

1) S Hu
(2) <=
(3) I

(4) A T

IR AT el W ?
(1) e HieRd H
(2) < foed °
(3) o fea d
(4) TehEH
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73. Shahjahanabad is a part of which one of | 73. yrestEAEe fEfafead sl | 9 fage T
the following cities ? fewme?
(1) Lucknow (1) @IS
(2) Delhi () feoei
(3) Aurangabad 3) iR
(4) Allahabad (4) EARIEIE
74. Which one of the following is not an | 74. Eﬁ@ﬁqmwﬁ%?
architect ?
(1) Raj Rewal (1) TS @™
(2) B.V. Doshi (2) @i St
(3)} Zakir Hussain (3) SRt SR
(4) Hafiz Contractor (4) @IS HigeRy
75. The famous work of Leonardo Da Vinci | 75. fe@mre! a1 fadt =it wfag wm ¢
is:
(1) Cleopatra (1) foerEmde
(2) Elizabeth (2) TSy
(3) /Mona Lisa (3) A fam
(4) The King (4) T

S/Page 24
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76. There are maximum forests in which State | 76. YRd # Tad Afues o7 fovg Tow | 2

of India :
(1)  Uttar Pradesh (1) WU
(2) Karnataka (2) HACH
(3) Madhya Pradesh (3) HH W
(4) Himachal Pradesh (4) femr=d gew
¥
|
,J 77. The temple of Angkorvat is in : 77. STTHRAR :
[ﬂj)‘ (1) Laos (1) =REHEE
J (2) Vietnam 2) foammHT
ﬂr (3) Myanmar (3) TR -
(4) Cambodia (4) wEIEAH T

78. Which is best used as a sound absorbing | 78. wrEr g eaf-sEnin & fau, fause

material in partition walls ? AR H Fod ST YA § AR S © 2
(1)  Steel ; (1) =
2) Glass-wool / (2) ®a# T (Glass-wool)
(3)  Glass pieces /y (3) HHEF ITHS
_~(4) Stone chips (4) TR % The
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79.

80.

Which one of the following is an
Earthquake resistant structure ?

(1) Mud walls
(2) RCC framed
(8) Load bearing brick walled

(4) Random stone masonary

Eiffel Tower is located in :
(1) London

(2) Australia

(3) Paris

(4) Beijing

-00o0-

79.

80.

frtifera =iel § 9 1 T YT i T Tl
2?2

(1) fagt T @ = e p

(2) SRHLHL T

(3) R U Al 22 i Ee

(4) oTRHT-T Tk § Tl At A

Tfther 2T el e § 2
(2) oo

Dy

-00o0-

—
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11. Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other material
except the Admit Card inside the examination
room/hall.

A

Read the following instructions carefully : Feferfiae (9T em7 9 9 -

1. PartI has 30 objective type questions of Mathematics faet ¢ ¥ 30 =gy R T
consisting of FOUR (4) marks each for each correct L N %E;ﬂ'ﬂl iTTﬁTI?T 30 gg?ﬁ%;a T
response. Part II (Aptitude Test) has 50 objective type TR e \ I % fer EIT{' (4) 1K 1 ) '
questions consisting of FOUR (4) marks for each 9 11 (3t wdieron) § 50 sRgfE o € e o
correct responsi. Pa}:'.t }I1H consigts of 2 quedstions & W & fog = (4) 3T T Sﬁﬁ?ﬁ[a;mlllﬁ 299
carrying 70 marks which are to be attempted on a | 3 ey for 70 ofer fasifa ¥ | 218 W 56 e gfEE
separate Drawing Sheet which is also placed inside e . &
this Test Booklet. Marks allotted to each question are ' ST TGl Qﬁz EN m € | e W 7 ﬁ%ﬁﬁ_d
written against each question. For each incorrect 3% o= e JfeRd 1w 1R w1 yw
response in Part I and Part II, one-fourth {Ys) of the e 3HT & AU 39 v & fou fuifE FA R A Y
total marks allotted to the question would be deducted o (1 T N T
from the total score. No deduction from the total score, & X ( /s 4) SADE ) KA W ﬁ”f‘l | afe
however, will be made if no response is indicated for an SW A F R 9 1 e I i 7@ e e, g
item in the Answer Sheet. I H d TS 3 Tal HIe S |

2, IS-Landle tthhe Test Bookéet, Answer Sheet an(z Drawifng 2. e ik, SR U U ST v @ Wﬁ‘léa? T

eet with care, as under no circumstarnices (except for G it S frforfa F (3 ﬁ .
discrepancy in Test Booklet Code and Answer Sheet 7, i qﬁ aftferfa 7 ( - e = ,Ea
Code), another set will be provided. ST 0 o “hre H furerar i feaf i siewt) el wen

3. The candidates are not allowed to do any rough work feqent IqeTey el R SIaAT |
or V\tzlntmg wlc()rk ortl t};e ﬁnswer Stlr}11eet. All calcul.ilitignfs /| 3. qtiERiE @ 3w T WHE Ff W w6 a1 foaas w1 e
writing work are to be done on the space provided for | o B A
this purpose in the Test Booklet itself, marked “Space FH . K TR \ Ll ) PP, ,
for Rough Work’. This space is given at the bottom of fenr & fruifia Se S o ‘3 s o foe e’ gR
iac}i(fage and in one page (page 27) at the end of the ArifeRd &, g feRan S g STE Yk 8 TR A Shi

ookdlet. SR T ficTehT % 37d B (9827) WA TE 7

4. Each candidate must show on demand his/her Admit 4 T SR W IS qﬁm?;g&]ig F 7 TS e
Card to the Invigilator. ’ - .

5. No candidate, without special permission of the femm |
Superintendent or Invigilator, should leave his/her | 5. sterer = Tt =1 fagm ﬂﬂqﬁf % T 1 qiiameft
— ' , 3T T 7 SIS |

6. On completlon_ of Fhe test, tl'_le candldatgs should nqt 6. THeT T B W, wenef FraE w3 e
leave the examination hall without handing over their . .
Answer Sheet of Mathematics and Aptitude Test-Part 1 T — ST [0S Srferefe ‘q‘f{&{ﬂl - I IS ST 9 T
& Il and Drawing Sheet of Aptitude Test-Part Il to the | 1% G101 1] i ST ¥ite 27 31X Sufeafa o
Invigilator on duty and sign the Attendance Sheet at T TG TR SN A % GYE @ e T B |
the time of handing over the same. Cases where a N ) . :
candidate has not signed the Attendance Sheet the Q"\HT’[ E}T{—‘{.W{q’gm (R ERS 2 < ¥fte
second time will be deemed not have handed over e T & S srfer Tnea v st goft & HE S |
these documents and dealt with as an unfair means dremelt 3T A B arl]:%‘a;rﬁ'srﬁaqﬁwﬁ'{wﬁ
case. The candidates are also required to put their left Ik e Ll o L m"‘ aroft ST
hand THUMB impression in the space provided in the mﬁ ™ { sfi T:;: 2 ) : .ﬁgﬁ%ﬁqﬁg 5
Attendance Sheet. However, the candidates are @ ) @I G - AT [T 1 & Ef,i Kiehl
allowed to take away with them the Test Booklet of o S awRd |

7 Use o Eleconic/Manual Cleulator ox drawing | * <, s ey Fwd i
lowed oA s comp P . ettt s ferg whaelt s/ 3 fre

8. The candidates are governed by all Rules and we fafadi gro frafia 2 stgfem wres w&m & g+
Regulations of the JAB/Board with regard to their HHel &1 HHe ST E. /aﬁé‘%ﬁq@f@ﬁﬁqﬁf%aﬂ{
conduct in the Examination Hall. All cases of unfair B
means will be dealt with as per the Rules and . —
Regulations of the JAB/Board. 9. ferelt ofi fearfa & uitan giren], ST 7% o gET WIS I

9. No partof the Test Booklet, Answer Sheet and Drawing HIE off IFT T O ST R S drAH Ih@ e
Sheet shall be detached/folded or defaced under any aera fermen ST
circumstances. T : g

. qRenT, I S TE SET e § ELUS I (R5E)

10. The candidates will write the Test Booklet Number as 10 . o S d ’ o T Q; 3 Qﬁzﬁ ; 3"::5; & ?dTa
given in the Test Booklet, Answer Sheet and Drawing AT <k IR L bl
Sheet in the Attendance Sheet also. 11. nﬁamﬁ BT THET H A W Ua9r &1E & Srear

foredt wranTt Rt TG WA, Hfe ar geatatEd, e
i afEal, TSR, Hiase Wi, Saaeie a9t a1
Ferlt 211 WaRTT Sht W &Rt o S A7 S9ET SR et
3Tt 8 % |
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